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a) Indicate the correct option for the Pearson correlation coefficient and justify yvour etnbwi:r.éf

1) Indicate the correct option for the Spearman correlation coefficient and justify your answer. R.

(For each a) and b) 1 point for the correct answer with a correct justification.) C—T—D




The linkage rules define dissimilarity between clusters. Here are four popular linkage rules assuming
that A and B ars two different clusters:
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The results of hierarchical clustering can be shown using a dendrogram (ie., a tree representation )

= @ Avcrage: The dissimilarity between A and B is the average dissimilarity between any element
.
The height in the dendrogram at which two clusters are merged represents the distance between = of A and any element of B.
those two clusters. = @ Centroid: The dissimilarity between A and B is the dissimilarity between the centroids {mean
plot(he, hang=-1) # hang=-1 align observation labels at the bottom of the dendograr = vector) of A and B.
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Observations that are determined to be similar by the clustering algorithm are displayed close to
each other in the x-axis.
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L‘) I Lo I \ Merging by more than one columii~

We now merge dt1 and dt2 by first name and last nams;
marge(dtl, dt2, by=c("[1::.al.ui:|f.'", "lastname™})

#H firstname lasthame X ¥
## 1 Mice Coop 1 A
## 2 Bob Smith 3 C

Mote that merging by first name only gives a different result [as expected):
EEEEEldtl, dt2, by="firstname")

#i firstname lastname.x x lastname.y v
#4 1: Alice Coop 1 Coop A
#H 2 AMice Smith 2 Coop A
#¥ 3 Bob Smith 3 Marley B

#H 4 Bob Smith 3 Smith C



